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1. Answer all the fifty questio:ns “€ach question ca.rries one"’ma.rk
2. Use only Black ball pomt pen for writing / darkenmg the circles.
3. For each questlon, jﬁf?‘er selecting your answer, darken the appropriate circle

?th'e same question num er on the OMR sheet.

correspondmg
4. Darkening two' CIrcies for the same questlon makes the answer invalid.

5. Damagmglﬁverwrltmg, usmg whiteners on the OMR sheets are strictly

prohibited.
1.  Which of the following approach is used by C++1f . %
a) Left-right b) R;ght-leﬂ c). Bortom—up
2. Object based language jﬁfffers from object onented language as 1t does not support
features : g
1) Encapsulation ... ii) Inheritance _ m) Dynamlc Bmdmg iv) Abstraction

a) Only (iii), (iv)- b) Only (1), (iii) - c) Only (11) (1v) d) Only (i1), (ii1)

3. Who is founder of C++? =
a) Dennis-Ritchie b) KenaTh“(')ifﬁpson c) stﬁc\-t&n‘Kemighan d) Bjarne Stroustrup.
4. Which 0f the followmg fééﬁlres must be suppt)rted by any programming language to
become a pure object—onémed programmmg “Janguage?
g ) Inheritance J:ﬁ Encapsulation é) Polymorphism d) All of the above

5. : Identify the user-dcﬁned types from the followmg‘?
a) enumeration. - e b) classes
c) int ' d) both enumeration and classes

6. Whatis meant by poiymorphlsm in C++?

a) Class having only single form b) Class having four forms
¢) Class having many forms d) Class having two forms
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10.

11.

12.
13.

14,
.a) Abstract class .
“c) User deﬁned cTasS’

15.
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Abstract class is the class with no objects created directly. .
a) True b) False

How structures and classes in C++ differ? e

a) Structures by default hide every member whaeas classes do not.

b) In structures, members are public by dcfa(ult;whereas in classes, they are private by
default. [\ b

¢) Structures cannot have private memb ”glasses can have.
d) In structures, members are nrlvaLe by'default whereas, In clasges they are public by
default. L A

What is operator overloadmgem*@,}#? :

a) Overriding the operator meanmg by the user deﬁned meanmg for user defined data
type.

b) Redefining the way: Gperator works for user deﬁged types

¢) Ability to prov1de theoperators with some spemai meanmg for user defined data type.

The major M%f inheritance in C++is "

a) To facilitate/the conversion of dat;a types

b) To hglp?@odular programming. ... .
¢) To'fagilitate the reusability of Q@de L%

d) To extend the capabllltles of a olass. "~ M

The class where objectsgl’)%% like a data type lCh is known as )
a) Method data type %%%Message data type »
¢) User defined clata tﬁ}e #3_d) Abstract dat%e

Single class may._have multlple obj .%socmted w1th it J
a) True - Y

Operators suchas____ caiifiot '
a) 4 ;._:.f % & C) L d) =

".“;‘;Iﬁe functlon that can access and mampuiagseethe private entities of class

b) Method class
d) Friend function

3 %xpllmtly reserved identifiers and cannot be used as names for the program
variables or other user-defined €lements.

a) Keywords b) Identifiers

c) Constants (e d) Strings
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16.

17.

18.

19.

20.

21,

22.

23,

24.

25,

Telational b) float
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State whether the following statements are true or false for( identifiers:
i) Only alphabetic characters, digits and underscores pétmitted.

i) The name can start with a digit. fgy, v
ii1) Uppercase and lowercase letters are distinct » *
a) i — True, ii — True, iii — False b) . True ii — False, iii — True
¢) i— True, ii — False, iii — False d) Iy True, ii — True, iii — True.

The binding of data and functions toget’he “into a single class type riable is referred to

as g ™ .
a) Encapsulation b) Polymoqﬂglsm ¢) Inheritance .. d) Overloading
f%‘ 4 £ o™
Which of the following is not tfbe user defined data type i C-H-'?
d) Class

a) Structure b)@@lﬂter ¢) Un

We can create __4 ‘in Gk using the qualifier constant and defining a set of integer
constant using enu. S
a) Basic Constaﬂt - b) Number constant
¢) Symbolic constant " d) Named constant

a):: d) - %
The _ manipulator.is-used in an outpu stafement which cau‘;é?s a linefeed to be
inserted. > #

a) setw : ‘1‘)) delete

Which of the followmg are the typ% ﬁ' C++ expressmms
i) Constant expressions u):{lntegral expressmn&wﬁ
iii) Float%%pressmns

a) 1, ii. and”m only c) 1ﬂ"and ivonly  d) All of the above

combine to-orsmore relational exprchmns and produces bool type results.
" ¢) logical d) bitwise

The operator is know:i;;a;s_ ‘a compound assignment or short-hand assignment

operator. - .

a)== b=« c)+= d)
\&ﬁ

The following is expressmns x=y=z=10

a) Embedded assignment b) Logical assignment

¢) Chained assignment d) Compound assignment
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26.

27.

28.

29.

30.
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Constructor has the same as that of the class.
a) Variable b) Object c) Functiq%x-..

# include <iostream>
using namespace std; 3
void swap (int &a, int &b) e g
{ i Y G
int temp; 5
tempa, A
a=b; ”“?‘
b = temp;
H
int main( )
{ G
inta=5,b=10;
swap (a,b);
cout << “In main

¢) Error 2 d) No output

A constructor that accepts no paraﬁ‘heters is called » 4.~
a) default constructor & b) p arameterized P
¢) implicit constructor .~ d) nu?l constructdr '

Constructors cannot be inherited, througﬁ éﬁderlved class can’*‘ﬁﬁff the _ constructor.

a) base class " .+ b) derived class”>
¢) void class =) {f%% e )] default class
N

-

What wﬂf‘ﬁe the output of tlgéf fo llowmg C++ code‘?
# include <iostream> g
~ using namespace std;,
“int main( )

inta=9;
int & aref ‘ a9
at++; ' S
cout g%ﬁi“he value of a 15” << arcf
return 0; 3

a) 9 by 10 ¢) error dy 11
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3l.

32;

33.

34,

33.

36.

30

38.

39.

40.

41.

_a).cin . get (ch)
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a) tilde b) hash d) dollor
The inherits some or all of the propemesgef the class.
a) base, derived b) derived, base c<) d%nved initial d)ggﬁse, final

A class can inherit properties ﬁ'om more than one class whlgh 1s known as
inheritance.

a) single b) multl[?;leg: ¢) multilevel “ d) hierarchical
When the base class is pubhel?gmhented public menfbers of the base class become
of the derived class? . % = %

a) private members %%ubhc members  ¢) pi‘ﬁ?ected d) not inherited

mherltaa 3 may lead to duphcatl "h Qf inherited members from a ‘grandparent’
base class.
a) mult lpﬂfﬁ B’

b) multilevel ~ » c) hybrid d) hierarchical

By default all the files in C++ a?e‘g E"rpened in

a) Binary b) Text » c) ASCLTM
. )\\% i 4
Which operator is used 0 ereate the user-deaﬁ;;tedsstreams inC++?¢
a) >> b) << % c?’& o 1 S
What does theeerr represent? - B
a) Standard input stream . b) Standard output stream
c) Standard, TTOT Stream w1th no buffer d) Stangard buffer stream

.?
’n_,gg 4

Fungtic;i; which reads a;

‘b

& tores what is read in ch is
ik » Np, get (ch)
R w %d) cin . put (ch)

¢) cout . put (ch)

.......

a) # include <1ostream> b) # include <fstream>
¢) # include <file> d) # include <fe>

Which operator is used to.insert the data into file?
a) >> b) << c) < d) >
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42.

43.

44.

45.

46.

47.

48.

49.

50.
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is return type of is_open( ) function A%

a) int b) bool c) float d) char *
To create an output stream, we must declare the s;ream fo be of class
a) ofstream b) ifstream c) 105tream d) none of the above
What is an exception in C++ program? o 4
a) a problem that arises during the execution of a program. o
b) A problem that arises during comp1laﬁ@ﬁ -
¢) Also known as syntax error.

d) Also known as semantic error..
Out of range index and overfloy exception.
a) Asynchronous R4 b) Synchronous
¢) Both £ : d) None of the above
Keyboard interrupts are?vAsynchronous exceptlons -
a) True b) False
What is the dlf’ference between error and! exceptlon‘?
a) Both are%g.;ame :

b) Both. éa%ﬁé handled during runtime.
¢) Exceptions can be handled at the funtime but the errors cannot.
d) Errors'can be handled at the ﬁﬁme but the exceptions.cannot.
What is Rethrowing an exceptlon means in C++2 Y N
a) An exception that is thf’oWn again as it is not handled by that catchmg block.
b) An exception that is ‘caught twice.
¢) An exception that isnot handled in ong "eaught hence thrown agam
d) All of the aboﬁgg, :
Which of the f(ﬂléwmg is an excep}mn i C++2 &
a) Divide by zero ..;.% b) Semicolon not written
c) Vanabl@«:not declared o b, d) An expression is wrongly written
Throw statement can be usad“by the  fornfs:
a) throw (exceptlon) _«-b)throw exception ;

. RSk ok k%
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